Problemas de representaciones graficas
2° de Bachillerato

Representar graficamente las siguientes funciones:

1.

f(z) =23 —32+3

2.
f(z) = —é(x?’ ~3242)
3.
flx)=2—x—2°
4.
f(z) =23+ 322 + 3242
5.
flz) =32 -9z +1
6.
f@)=(z+1)(z—-2)(z-5)
7.
f(@) = —2®+ 322 + 9 — 2
8.
fo) = 3= 1) +2
9.
f(z) = 32t + 42®
10.
f(z) = 32 — 622
11.

f(z) = 2* — 423 + 162
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16.

17.

18.

19.

20.

21.

22.

23.

f(z) = z* — 823 + 1822 — 162 + 5

f(x) = 2* — 423 + 162 — 16

flz)=2°+1
f(z) =2° — 5z
fla)=(z 1)
f(z) = [2x =3

f(z) = |2? — 6z + 5|
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32.

33.

34.

4x

= s

1
f(z) =sinx — —sin3z 0<z<2r

18

1
f(m):cos:z—icoslr 0<z<
f(z) =2z — tanzx —g<a?<

f(z)=2x+cotx O0<z<m

flo) = 2 -
@) =
f@) =
fla) = 12
f(@)=2vd—x
flz) = 2v/4— 22
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35.

36.

37.

38.

39.

40.

fla) =12
fa)=o+ s
flay = =
fla) =
flz) = 233;”3_8
) = 23:290—_53;+5



